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Löse die Klammern auf und berechne das Endergebnis.
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1. [(-74) + 74]·((-90) + 6] =  0
           0 · (-84) = 0


2. [(-26) + 86]·((-29) + 98] =  4140
           60 · 69 =  4140


3. [4 + (-41)]·(37 + 64) =  -3737
       (-37) · 101 =  -3737


4. [53 + (-87)]·((-58) + 94] =  -1224
        (-34) · 36 =  -1224


5. (33 + 92)·(31 + (-57)) =  -3250
       125 · (-26) =  -3250


6. [(-6) + (-32)]·(33 + 33) =  -2508
        (-38) · 66 =  -2508


7. [(-38) + (-74)]·(81 + 44) =  -14000
       (-112) · 125 =  -14000


8. [(-19) + (-35)]·(2 + 1) =  -162
          (-54) · 3 =  -162


9. (56 + 70)·((-57) + 4) =  -6678
        126 · (-53) =  -6678


10. [61 + (-77)]·(39 + 98) =  -2192
        (-16) · 137 =  -2192
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